Solutions

Exercises: ‘| ‘|
T S, _ |
Challenge: 32!2! + 2(4)2! + 5!

1. P(7)= () (3)7(2)® = 0.000786432

2. (a) P(0) = (¥)(0.92)%
(b) P(3) = (%)(0.08)%(0.92)%
(c) P(1or2)=(*)(0.08)!(0.92)** + (%)(0.08)2(0.92)*
(d) P(x>3)=1—P(x <3)
=1—[(*)(0.08)°(0.92)%+ (%) (0.08)'(0.92)** + (%) (0.08)2(0.92)

+(%)(0.08)3(0.92)%]

Problem Set

1. P(@>3)=1—P(x <3)=1—[(])(0.73)" + (1)(0.27)(0.73)° + (})(0.27)%(0.73)55]

2. P(z >5) = P(6)+ P(7) + P(8) = (3)(0.86)5(0.14)* + (3)(0.86)7(0.14)* + () (0.86)*

3. (a) Px=2)=(})(1/15)*(14/15)®
(b) P(x <2) = (\V)(14/15)1° + (') (1/15)(14/15)° + () (1/15)?(14/15)
(¢c) Pe>3)=1—-Plx<3)=1—[Plx <2)+ Pz = 2)]
=1-[(19)(14/15)" + (V) (1/15)(14/15)° + (3,)) (1/15)*(14/15)°]
4. (a) P(6) = (7)(0.75)5(0.25)°
(b) P(9) = (}7)(0.75)°(0.25)*

5. (a) P(z=5)=(})(0.25)°
(b) P(x >4) = P(x =4)+ P(z =5) + (1)(0.25)*(0.75)" + (7)(0.25)°
(c) P(z=0)=(])(0.75)°
(d) P(x <2)=(2)(0.75)° + (3)(0.25)1(0.75)* + (5) (0.25)%(0.75)°
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